O Interplex

MEDIPLEX 1 Cart

Interplex (Suzhou) Precision Engineering Ltd.
21 Lou Yang Street, CSS Industrial Park
Suzhou, Jiangsu Province, P. R. China 215122

rollstand@interplex.com
www.interplex.com

-

REF| 5000000037 / RS-007

1 Q) (1) 2 © (x)

3 (0) 1% a | @x)

A
R

~

5520000004 Rev A

Page 1 of 26



5520000004 Rev A Page 2 of 26



5520000004 Rev A Page 3 of 26



Page 4 of 26

5520000004 Rev A



00000000000000



00000000000000



(English)

Routine Maintenance

Periodically inspect all fasteners associated with the mounting system. Tighten or adjust fasteners as necessary for
optimal operation and safety.

Cleaning the Mounting Assembly

1. The mounting assembly may be cleaned with most mild, non-abrasive solutions commonly used in the hospital
environment.

2. The surface finish will be permanently damaged by strong chemicals and solvents such as acetone or
trichloroethylene.

3. Do not use steel wool or other abrasive material.

4. Damage caused by the use of unapproved substances or processes will not be warranted. It is recommended
that you test any cleaning solution on a small area of the mounting assembly that is not visible to verify
compatibility. Refer to compatibility table above.

5. Never submerge or allow liquids to enter the mounting assembly. Wipe any cleaning agents off the assembly
immediately, using water dampened cloth. Dry the assembly thoroughly after cleaning.

CAUTION: Interplex makes no claims regarding the efficacy of the listed chemicals or processes as a means for
controlling infection. Consult your hospital’s infection control officer or epidemiologist. To clean or
sterilize mounted devices or accessory equipment refer to the specific instructions delivered with those

products.
Chemical Compatibility
Mild detergent or soapy water Acetone
10% bleach solution (10%bleach,90%water) Trichloroethylene
70% Isopropyl Alcohol Steel wool or other abrasive material
70% Ethyl Alcohol Ethanol 100%
Hydrogen Peroxide(3%) Oxivir® TB

Fasteners and Tools Description

NO. Part Description

(1) M8 x 25mm Hex head cap screw

(2) 5/16 Split Washer

(3) 5/16 Flat Washer

(4) M5 x 20mm Countersunk Head Screw

5520000004 Rev A Page 7 of 26



Manutencao de Rotina

(Portugués)

Inspecione, periodicamente, todos os parafusos associados ao sistema de montagem. Aperte ou ajuste os parafusos
para um funcionamento optimizado e melhor seguranga.

Limpeza do Conjunto de Montagem

1. O conjunto de montagem pode ser limpado com solugdes muito leves e ndo abrasivas, frequentemente utilizadas
em ambientes hospitalares.

2. O acabamento de superficie sera permanentemente danificado por quimicos fortes e solventes como acetona ou
tricloroetileno.

3. Nao utilize palha de ago ou outro material abrasivo.

4. Danos causados pelo uso de substancias e procedimentos nao autorizados, ndo sao garantidos. Recomenda-se
que teste solug¢des de limpeza numa pequena area do conjunto de montagem que seja invisivel, para verificar a
compatibilidade. Consulte a tabela de compatibilidade acima.

5. Nunca submergir a montagem ou permitir que liquidos entrem nela. Limpe imediatamente qualquer produtos de
limpeza da montagem, usando pano molhado em agua. Seque completamente o conjunto depois de o limpar.

CUIDADO: A Interplex ndo faz qualquer declaragao sobre a eficacia dos quimicos ou procedimentos enumerados
como meios de control de infegdo. Consulte o oficial de control de infecdes ou epidemiologista no seu
hospital. Para limpar ou esterilizar os dispositicos montados ou equipamento acessério, consulte as
instrucbes especificas entregues juntamento com esses productos.

Descricao de parafusos e ferramentas

Compatibilidade Quimica

Detergente leve ou agua com sabao

10% Solugao de lixivia (10% lixivia, 90% agua)
70% Alcool Isopropilico

70% Alcool Etilico

Peroxido de Hidrogénio (3%)

N.° Descricao

(1) M8 x 25mm Parafusos de cabeca sextavada
(2) 5/16 Anilha de pressao

(3) 5/16 Anilha plana

(4) M5 x 20mm Parafuso de cabega contrasunk

Acetona

Tricloroetileno

Palha de acgo ou outro material abrasivo
Ethanol 100%

Oxivir® TB

5520000004 Rev A

Page 8 of 26



Adlsal) Jles) JISE) g Jaladl

sl 038 LAt

)l Jloedl & dosseiad) asled] JJloddl plaseinly pudds - Jlasel dadais 63 065 OF ez gl 035 .1

Gl 29S0T M 5l gl Jie Olaadbly dsi)l ddliasSdl JWlor] apuns dlSTio a1 Bygas OSiw )] aslan 2

S5 dae dlse gl ol sdll pe pusasy. .3

058 G| gunbl 0355 ooy s § Ulonkl adlaiy psB5 Ol by 9050 (o - gaian (SS f Olles 9l Lo g pae ) bl oy Souos 51281 4
oLl @8lsdll Jgaz § 4] Hlay Ny . 3lsdl (e 3ol Gye .

ol asy guaeb] Lz . dllos pudle plasial , Yo sl & Mo (1 pracg (035 - puzebl 0355 JI a5 O By grod sl sy, .5

oatiebl ikl CiSn Bylizaly 63 . Gslill e ophanly i L o5 (31 Glodlabl 5 4dlasS) Skl 48l SIS Sllias Jos3Y ol Hdorl-1 33
Oloih) me dalud) dmabl SlaliYl JI Y Caus Sl ol 03029 eadisis) Cidatt) . SLILSIL parsd VI Cadallol sl e olaully.

uyLan clo gl Juisme alaie Qwﬁ”
A i) 9y9lS GMI
10% yaus Jol=e ol 9y €
70% s 1333 JsoS 3o Slyn 51 Nl e
0, NS
70% JioYl Jg=S 100% Jg3G)
3% Q}_?j).)..:@)‘ J\Mﬁsjﬁ Mjm

-ehiea ol il gl g day ) cillasa

a8 # 32l inag

(1) sl e ool 43l M8 x 25mm
(2) didie dlut 5/16
(3) dobue dlut 5/16
4) sy Hlowudl 4888 M5 x 20mm

5520000004 Rev A Page 9 of 26



(Croatian)

R RECEE Odrzavanje rute

Povremeno pregledavajte sve pri¢vrs¢ivace koji su spojeni na sustav ugradnje. Po potrebi zategnite ili prilagodite
ucvrscivace za optimalan rad i sigurnost.

Ciséenje montaznog sklopa

1. Montazni sklop moze se o istiti s najblazim, ne-abrazivnim rjeSenjima koja se obi¢no koriste u bolnic¢kom
okruzenju.

2. ZavrSna povrsina bit Ce trajno oste¢ena Cvrstim kemikalijama i otapalima kao Sto su aceton ili trikloretilen.
3. Ne upotrebljavajte CeliCnu vunu ni druge abrazivne materijale.

4. Steta izazvana uporabom neodobrenih tvari ili procesa neée biti opravdana. Preporuéuje se da ispitate bilo koje
rieSenje za Cis¢enje na maloj povrSini montaznog sklopa koje nije vidljivo za provjeru kompatibilnosti. Pogledajte
gornju tablicu kompatibilnosti.

5. Nikad ne razdvajte ili dopustite teku¢inama da udu u montazni sklop. Odmah obriSite sredstva za CiS¢enje pomocu
zakovane tkanine. Nakon &iS¢enja temeljito osusite sklop.

OPREZ: Interpleks ne navodi tvrdnje o ucinkovitosti navedenih kemikalija ili procesa kao sredstva za kontrolu
infekcije. Konzultirati svoje bolnice infekcije kontrolor ili epidemiolog. CiS¢enije ili sterilizacija ugradenih
proizvoda ili dodatne opreme odnosi se na posebne upute dostavljene s tim proizvodima.

Kemijska kompatibilnost

Blagi deterdzent ili sapunica Aceton

10% izbjeljivaca (10% izbjeljivaca, 90% vode) Trikloretilen

70% lzopropilni Alkohol Celi¢na vuna ili drugi abrazivni materijal
70% Etilni Alkohol Etanol 100%

Vodikov Peroksid (3%) Oxivir® TB

Opis uredaja i alata

Ne. Opis dijela

(1) M8 x 25mm Vijak sa Sesterokutnom glavom
(2) 5/16 Split Pera¢

(3) 5/16 Ravna perilica

(4) M5 x 20mm Vijak s glavom protusluge

5520000004 Rev A Page 10 of 26



(Cestina)

R — Bézna udrzba

Pravidelné kontrolujte vSechny spojovaci prvky montazniho systému. Utahnéte a sefidte spojovaci prvky, abyste
zajistili optimalni provoz a bezpec€nost.

S Cisténi montazni sestavy

1. Montazni sestava muze byt ¢ist€éna pomoci velmi jemnych neabrazivnich roztokd bézné pouzivanych v
nemocnic¢nim prostredi.

2. Pouziti silnych chemikalii a rozpoustédel, jako je aceton nebo trichlorethylen, trvale poskodi povrchovou upravu.
3. NepouZivejte ocelovou vinu ani jiné abrazivni materialy.

4. Poskozeni zpusobené pouzitim neschvalenych latek nebo procesu neni pfedmétem zaruky. Jakykoli Cistici
prostfedek doporu€ujeme nejprve otestovat na malé ploSe montazni sestavy, ktera neni viditelna, aby se ovéfila
kompatibilita. Viz tabulka pfilozena kompatibility.

5. Nikdy nedovolte tekutinam vniknout do montazni sestavy ani ji do nich neponofujte. VeSkeré istici prostfedky
okamzité ze sestavy otfete hadfikem navlhéenym vodou. Po ¢isténi montazni sestavu dikladné osuste.

VAROVANI: Interplex nedini zadna tvrzeni ohledné Gginnosti uvedenych chemikalii nebo procest jako prostredku
prevence proti infekci. Poradte se s expertem na infekce a epidemie ve vasi nemocnici. Chcete-li vycistit
nebo sterilizovat namontovana zafizeni nebo pfislusenstvi, postupujte podle konkrétnich pokyn
dodanych s té€mito vyrobky.

Chemicka kompatibilita

Jemny Cistici prostfedek nebo mydlova voda Aceton

10% bélici roztok (10 % bélidlo, 90 % voda) Trichlorethylen

70% isopropylalkohol Ocelova vina nebo jiny abrazivni material
70% ethylalkohol 100% Ethanol

3% peroxid vodiku Oxivir® TB

Popis spojovacich prvku a naradi

Cislo Popis souéastky

(1 M8 x 25mm Sroub se $estihrannou hlavou
(2) 5/16 Pruzna podlozka

(3) 5/16 Plocha podlozka

(4) M5 x 20mm Sroub hlavy countersunk

5520000004 Rev A Page 11 of 26



(Danish)

R EEREE Rutinemaessig vedligeholdelse

Undersag jeevnligt alle befeestelser, der er tilknyttet monteringssystemet. Stram eller juster skruer efter behov for at
sikre optimal drift og sikkerhed.

e Renggring af monteringsenheden

1. Monteringsdelen kan renses med de fleste lette, ikke-slibende oplgsninger, der normalt anvendes i
hospitalsmiljget.

2. Overfladefinish vil blive permanent beskadiget af steerke kemikalier og oplgsningsmidler som f.eks. acetone eller
trichlorethylen.

3. Brug ikke staluld eller andre slibemidler.

4. Beskadigelse som fglge af anvendelse af ikke-godkendte stoffer eller processer er ikke berettiget. Det anbefales,
at du tester en renggringslgsning pa et lille omrade af monteringsenheden, som ikke er synlig, for at kontrollere
kompatibiliteten. Se kompatibilitetstabellen ovenfor.

5. Bland eller lad aldrig veesker komme ind i monteringsdelen. Tar straks alle renggringsmidler af enheden af ved
hjeelp af vandafdeempet stof. Tar samlingen grundigt efter rengaring.

FORSIGTIGHED: Interplex haevder ikke, at effektiviteten af de anfgrte kemikalier eller processer er et middel til at
bekaempe infektion. Kontakt hospitalets smittekontrolmedarbejder eller epidemiolog. For at
renggre eller sterilisere monterede anordninger eller tilbehar henvises der til de specifikke
instruktioner, der fglger med disse produkter.

Kemisk kompatibilitet

Let vaskemiddel eller seebevand Aceton

10% blegopl@sning (10% blegemiddel, 90% vand) Trichlorethylen

70% lsopropylalkohol Staluld eller andre slibemidler
70% Ethylalkohol Ethanol 100%
Hydrogenperoxid (3%) Oxivir® TB

Beskrivelse af befaestelser og vaerktgjer

INGEN. Beskrivelse af del

(1) M8 x 25mm Hex-hovedskrue

2) 5/16 Delt vaskemaskine

(
(3) 5/16 Fladvaskemaskine
(4) M5 x 20mm Skrue med forsenkningshode

5520000004 Rev A Page 12 of 26



(Nederlands)

e Routine Onderhouden

Inspecteer alle bevestigers periodiek die gekoppeld worden aan het ondersteunsysteem. Indien nodig, draai de
bevestigers of pas eraan voor de optimale operatie en veiligheid.

Schoonmaken van het Ondersteun Montage

1. Het ondersteun montage mag schoongemaakt worden met de meeste milde, niet-schurende oplossingen die
vaak gebruikt in het ziekenhuis worden.

2. De afwerking van oppervlakte zal permanent schade gedraagt worden door sterke chemicalién en
oplosmiddelen zoals aceton of trichloorethyleen.

3. Er mag geen staalwol of ander schurend materiaal gebruikt worden.

4. Indien niet-goedgekeurde stoffen of werk processen worden aangepast, wordt er niet gegarandeerd voor de
schade die daardoor veroorzaakt wordt. Er wordt aanbevolen dat u de test van elke schoonmaken oplossingen
doet op een klein deel van de ondersteunmontage dat niet zichtbaar is om de compatibiliteit te verifiéren. Zie
de compatibiliteitstabel hierboven.

5. Er mag nooit enkele vloeistoffen in het ondersteuning montage ondergedompeld of laten ingevoerd worden.
Veeg alle schoonmaken middelen onmiddellijk weg van de montage af, onder gebruik met het water dempende
doek. Na het schoonmaken droog de montage zorgvuldig af.

Opmerking: Interplex maakt geen verklaring over de werkzaamheid van de chemicalién of werk processen die op
de lijst gestaan worden als een wijze om de infectie te beheersen. Voor meer informatie pleeg de
infectiebestrijdingsfunctionaris of epidemioloog van uw ziekenhuis raad. Bekijk de specifieke instructies
die er geleverd met deze producten worden voor het schoonmaken of steriliseren van gemonteerde
apparaten of toebehorende materialen.

Chemische Compatibiliteit

Mild wasmiddel of zeepwater Aceton

10% bleekmiddel (10% bleekmiddel, 90% water) Trichloorethyleen

70% Isopropylalcohol Staalwol of ander schurend materiaal
70% Ethylalcohol Ethanol 100%

Hydrogen Peroxide (3%) Oxivir® TBt

Bevestigers en Beschrijven van de Hulpmiddelen

Nr. |Beschrijving van Onderdelen Description

M8 x 25mm Zeszijdige bout met hexuitdraai

—~
w

5/16 Platte Wasser
M5 x 20mm Verzonken kopschroef

)

(2) 5/16 Gespleten Wasser
)
)

5520000004 Rev A Page 13 of 26



(Suomi)

e Huoltorutiini

Tarkista saanndllisesti asennusjarjestelmaan kuuluvat kiinnikkeet. Kirista tai sdada kiinnikkeet tarvittaessa
optimaalisen toiminnan saavuttamiseksi ja turvallisuuden varmistamiseksi.

R RREERE Asennuskomponenttien puhdistus

1. Asennuskomponentit puhdistetaan sairaalaymparistossa yleisesti kaytetyilla miedoimmilla liuoksilla, jotka eivat
sisdlla hankaavia aineita.

2. Vahvat kemikaalit ja liuottimet esim. asetoni tai trikloorietyleeni saattavat vaurioittaa pintakasittelya pysyvasti.
3. Ala kayta terasvillaa tai muuta hankaava materiaalia.

4. Hyvaksymattomien aineiden kayton tai kasittelyjen aiheuttamaa vahinkoa ei korvata. On suositeltavaa mita
tahansa puhdistusliuosta ensin pienelld alueella asennuskomponenttia kemiallisen kestdvyyden varmistamiseksi.
Katso ohessa oleva kemiallisen yhteensopivuuden taulukko.

5. Ala upota asennuskomponenttia nesteeseen tai padsta nestettd asennuskomponenttien sisééan. Jos niin kuitenkin
tapahtuu, pyyhi puhdistusnestetta valittdmasti vedella kostutetulla liinalla. Kuivaa komponentit huolellisesti
puhdistuksen jalkeen.

HUOM: Interplex ei ota kantaa lueteltujen kemikaalien tehokuuteen, kun niita kaytetaan tartunnan torjumiseen.
Konsultoi tdssa tapauksessa sairaalan tartunnanvalvojaanne tai epidemiologiaa. Seuraa naiden
tuotteiden mukana toimitettuja ohjeita asennettujen laitteiden tai apulaitteiden puhdistamisessa tai
steriloimisessa.

Kemiallinen yhteensopivuus

Mieto puhdistusaine tai saippuavesi Asetoni

10% valkaisuliuos (10% valkaisuainetta, 90% vetta) Trikloorietyleeni

70% Isopropyylialkoholia Terasvilla tai muu hankaava materiaali
70% Etyylialkoholia Etanoli 100%

Vetyperoksidia (3%) Oxivir® TB

Kuvaus kiinnikkeista ja tyovalineista

Nro. Tarvikkeen kuvaus
(1 M8 x 25mm Kuusiokantaruuvi
(2) 5/16 Jousialuslevy
(3) 5/16 Tasainen aluslevy
(4) M5 x 20mm Vastasunk-paan ruuvi

5520000004 Rev A Page 14 of 26



(Francais)

R Maintenance De Routine

Inspectez périodiquement toutes les attaches associées au systéme de montage. Serrez ou ajustez les attaches si
nécessaire pour un fonctionnement optimal ou sécurité

R REEEE Nettoyage de L’ensemble de Montage

1. Lensemble du montage peut étre nettoyé avec la plupart des solutions non abrasives couramment utilisées en
milieu hospitalier.

2. Létat de surface sera définitivement endommagée par des produits chimiques puissants et des solvants tels que
I'acétone ou le trichloréthylene

3. Nutilisez pas de laine d’acier ou d’autres matériaux abrasifs.

4. Les dommages causés par l'utilisation de substances ou de procédés ne seront pas garantis. Il est recommandé
de tester toute solution de nettoyage sur une petite zone, non visible, du matériel pour vérifier la compatibilité.
Consultez le tableau de compatibilité ci-dessous.

5. Ne submergez jamais ou ne laissez aucun liquide pénétrer dans 'ensemble du montage. Essuyez immédiatement
toutes les surfaces du matériel a I'aide d’un chiffon imbibé d’ eau. Séchez soigneusement I'ensemble du matériel
apres le nettoyage.

Mise en Garde: Interplex ne fait aucune déclaration concernant I'efficacité des produits chimiques ou procédés
listés ci-dessous comme moyen de contrdler l'infection. Consultez 'agent de contréle des infections
ou | ’épidémiologiste de votre hopital. Pour nettoyer ou stériliser les appareils montés ou
accessoires, se référer aux instructions spécifiques livrées avec ces produits.

Compatibilité Chimique

Detergent doux ou eau savonneuse Acétone

10% de solution d’eau de javel (10% d’eau de Trichloréthyléne

javel, 90% d’eau) Laine d’acier ou autre materiau abrasift
70% D’Alcool isopropylique Ethanol 100%

70% D’Alcool Ethylique Oxivir® TB

Peroxyde D’hydrogene (3%)

Attaches et Descriptions d’outils

NO. Description de la piece

(1) M8 x 25mm Vis a téte hexagonale
(2) 5/16 Rondelle fendue

(3) 5/16 Rondelle plate
(

4) M5 x 20mm Vis de téte de contre-sursomm

5520000004 Rev A Page 15 of 26



(Deutsch)

e Routinewartung

Uberpriife regelmaRig die mit dem Wartungssystem verbundenen Befestigungselemente. Ziehe die
Befestigungselemente nach Bedarf an oder stelle sie ein, damit ein optimaler Betrieb und Sicherheit gewahrleistet
wird.

w

i Reinigung der Montagebaugruppe

. Die Montagebaugruppe kann mit den meisten milden, nicht scheuernden Reinigungsmitteln gereinigt werden, die

meistens im Krankenhaus benutzt werden.

. Die Oberflachenbeschaffenheit kann durch harte Chemikalien und Reinigungsmitteln wie Aceton oder

Trichlorethylen dauerhaft beschadigt werden.
Benutze keine Stahlwolle oder andere abrasive Materialien.

. Schaden, die durch nicht zugelassener Benutzung von nicht zugelassenen Substanzen oder Verfahren verursacht

werden, sind nicht in der Garantie beinhaltet. Wir empfehlen, Reinigungsmittel auf einem kleinen Bereich der
Montagebaugruppe zu testen, der nicht sichtbar ist, um die Kompatibilitat zu Gberprifen. Siehe die
Kompatibilitatstabelle im oberigen.

. Tauche die Montagebaugruppe auf keinen Fall in Flissigkeiten ein und lasse diese nicht hinein eindringen.

Wische alle Reinigungsmittel sofort mit einem wasserfeuchten Tuch von der Montagebaugruppe ab. Trockne die
Montagebaugruppe nach der Reinigung grindlich ab.

Achtung: Interplex nimmt keinen Anspruch auf Schadensfélle der aufgefihrten Chemikalien oder Verfahren die als

Mittel zur Infektionskontrolle dienen. Wende dich an den Infektionskontrollbeauftragten oder
Epidemiologen von deinen Krankenhaus. Informationen zum Reinigen oder Sterilisieren von montierten
Geréten oder Zubehdrteilen findet man in den mitgelieferten bestimmten Anweisungen des Produkts.

Chemische Vertraglichkeit

Mildes Waschmittel oder Seifenwasser Aceton

10% Bleichlésung (10% Bleichmittel, 90% Trichlorethylen

Wasser) Stahlwolle oder anderes Schleifmaterial
70% lIsopropylalkohol Ethanol 100%

70% Ethylalkohol Oxivir® TB

Wasserstoffperoxid (3%)

Beschreibung der Befestigungselemente und Werkzeuge

Nr. Teilebeschreibung

1) M8 x 25mm Sechskantschrauben

2) 5/16 Geteilte Unterlegscheiben

3) 5/16 Unterlegscheiben

4) M5 x 20mm Senkkopfschrauben

5520000004 Rev A Page 16 of 26



(Greek)

e 2ZUVTHPNON POUTIVAG

MeP10BIKOG EAEYXOG OAWV TWV CUVOETAPWY TTOU OXETICOVTAI JE TO CUCTNPA TOTTOBETNONG. ZQIETE I TIPOCAPPOCTE TOUG
OUVOETHPEG OTTWG OTTAITEITAI yIa TN BEATIOTN AEITOUpPYia KOl AoQAAEIQ.

R Ka@apiopog TG ouyKpoTnong romo0£rnong

. To ouykpdTnUa ocuvappoAdynong PTTopel va KaBapIoTel Pe Ta TTEPICTOTEPA ATTIA, N AEIavTIKA SloAUuATA TTOU
XPNOIYOTToIoUVTAl CUVABWGS OTO VOOOKOUEIAKO TTEPIBAAAOV.

. To em@aveiakd @ivipiopa Ba uttooTei Poviun BAGRN atmod 1I0XUPEG XNUIKEG OUCTEG Kal DIAAUTEG OTTWG N AKETOVN 1) TO
TPIXAWPOQIBUAEVIO.

. Na pn xpnoiyotroigite xaAURSdIVO HaAAi | GAAa AsiavTiKG UAIKA.

. O1 ¢npieg TTou TTpoKaAOUVTal ATTO TN XPAON KN EYKEKPIMEVWY OUCIWV A dlEpYaaiwyV Oev DIKAIOAOYOUVTAl. ZUVICTATAI
va doKIpdoeTe oTToI0dATTIOTE AUOT KABAPIOPOU OE PI PIKPI TTEPIOXT] TOU CUYKPOTAUATOG TOTTOBETNONG TTOU eV
gival opath yia va TRERBAIWOETE TN CUPPATOTNTA. AVaTPEETE OTOV TTAPATTAVW TTIVOKA CUMBOTOTNTAG.

. Moté pnv BubiceTe uypd A va Pnv eMTPETTETE TNV £iI0000 OTN CUYKPOTNON TOTTOBETNONG. ZKOUTTIOTE aNéowg OAa Ta
MEéoa KOBapPIGPOU TOU GUYKPOTAUATOG, XPNOIMOTTOIWVTAG Uypd Travi. MeTd Tov KaBapioud, GTEYVWOTE KOAG TO
OUYKPOTNUA.

MPOZOXH: H Interplex dev TTPpoBAAAEI ICXUPICUOUG OXETIKA UE TNV ATTOTEAECUATIKOTNTA TWV KATAYEYPAPPEVWV
XNMIKWVY OUCIWY A SIEPYACIWY WG PETOU Yia TOV EAeyX0 TNG MOAUVONG. ZUUPBOUAEUTEITE TOV UTTEUBUVO TOU
VOOOKOEIOU 0OG YIa TOV EAeyX0 AOIJWEEWVY A TOV €TTIONPIOAGYO. Na Tov KaBapIiouo 1) TNV aTTOCTEIPWON
TWV GUVAPPOAOYNUEVWY CUCKEUWV I TOU BonBnTikoU €€OTTAICUOU, avaTpEETE OTIG E1I0IKEG 00NYieg TTOU
TTApEXOVTaI PE TA TTPOIOVTA AUTA.

Xnuikn cupfaréornra

EAa@pd atmropputravTikd A vepd aaTTOUVI AkeTéVN

10% di1adAupa xAwpivng (10% xAwpivn, 90% vepod) TpixAwpoaiBuAévio

70% lootrpoTtruAikry AAKOOAN XaAUBdIVO PHOAAT ) GAAEG AE1avTIKEG UAEG
70% AIBUAIKI) ANKOOAN AiBavoAn 100%

YTtrepoéeidio Tou udpoydvou (3%) O¢uBipn® TB

ZuvdeTnpeg Kal epyalcia Mepiypapn

‘OXI. Mepiypapn Mepwv

(1) M8 x 25mm ETKeaARg KEQaANPOpog KoxAiag
Oekaeadikou

(2) 5/16 AlacTtracpévo MAuvtipio

(3) 5/16 ETritredo MAuvTrpio

(4) M5 x 20mm AvTiBeTn Bida KeQaAlwv

5520000004 Rev A Page 17 of 26



(nmMay)

n'nmiav agitnn

7V 701N 197 DaNNN DX D'RNNYT IR 2TNT .N2OINN NDIYNYT DNIYRN DNANNN 72 NIX "M9DIPN 91X 7ITA7 Wt
D"'7M'O9IX NIN'VAI 71VON 7V MNYWT NIn

nadAN 170

D'7INN 'N22 Y191 WIN'WA D'XYNIN D'PNIY-"N720 D2TYN DWYXAKRD NITYA N2 71700 NX N7 (na. .1
[7'TININI7DM0 IR JIVXK |12 D'ONNI D'PTN D'77'MDA WIN'wn NINMYY? pri'nY? nwy nownn 1m+a. .2
DINX D'ZNIY DNAIN IX D779 7¥a wnnwn? 'k .3

'WXNK 7D |IN27 Y70 .0MWINN-X7 DD'70N I DNININD WIN'WN ARXIND DMAYY 211 7Y Nimnx 72iInn X7 4
N7un? NARNNN N720 9°Y .ANXNN KTI7 NN 7V N2ONN 71700 7w A1) 1'RY |0 NODY Y (I

NIYXNXRA 72170000 1 Min 70 T 9IKA NINAYT W' .20 2170m IN7 N7 0717 YWoRT Ik ypw' ' 5
"177'30 INK7 'TI0Y 91X 71700 R warh v .n% Ta.

nm " NiNn'knN

[I20 M IX ['TV 'I7"1 "IN [IOXX

10% o' 90% ,ni'minnipr 10%) npmnipr nomn) [7' KNI
70% oNoIT'R ANK 7NIY NN IX 2779 Y

70% nx 100%"71nx

3%) |xnn m) oIk ®TB

D'7Dn1 D"2ANNA IR

on
(1 M8 x 25mm NVYIvNn UXI 11

77N NN

(2) 5/16 N'7x19n0 N'POT
(3) 5/16 NNIVY N'POT
(4) nam N wrI M5x 20 n"n

5520000004 Rev A Page 18 of 26



(Magyar)

Rutin karbantartas

Rendszeresen ellendrizze a szerelérendszerhez kapcsolodo 6sszes rogzitbéelemeket. Az optimalis mikodés és
biztonsag érdekében huzza meg vagy allitsa be a rogzitéelemeket szilkség szerint.

A szereléegység megtisztitasa

1. A szerel6egységet a legenyhébb, nem koptatd oldatokkal kell megtisztitani, amelyeket altalaban a kérhazi
koérnyezetben hasznalnak.

2. Erds vegyszerek és oldoszerek, mint aceton vagy triklor-etilén, tartésan karosithatjak a fellletet.
3. Nem lehet hasznalni acélgyapotot vagy mas koptaté anyagot.

4. Azok a karok nem indokoltak, amelyeket nem engedélyezett anyagok vagy eljarasok hasznélata okozza.
Javasoljuk, hogy teszteljen minden tisztitéoldatot a szerel6egység egy olyan kis részén, amely nem lathato a
kompatibilitas ellenérizzéséhez. Lassa a fenti kompatibilitasi tablazatot.

5. Soha nem lehet meriteni a szerel6egységet, és ne engedje folyadékot bejutni a szerel6egységbe. A tisztitoszert
azonnal kell letérdlni a szerel6egységrél egy nedves ronggyal. Tisztitds utan alaposan kell megszaritani a
szerel6egységet.

VIGYAZAT: Az Interplex nem 4llitja a felsorolt vegyszerek vagy eljarasok hatékonysaga a fertézés ellenérzésére.
Keresse fel a kérhaz fert6zésellenes tisztjét vagy epidemiolégus. Amikor tisztitsa vagy sterilizalja a
felszerelt eszkdzOket és tartozékokat, olvassa el az ezekhez a termékekhez mellékelt utasitasokat.

Kémiai kompatibilitas

Enyhe mosdszer vagy szappanos viz Aceton

10% fehéritd oldat (10% fehéritd, 90% viz) Triklor-etilén

70% lzopropil-alkohol Acélgyapot vagy mas koptatd anyag
70% Etil-alkohol Etanol 100%

Hidrogén-peroxid (3%) Oxivir® TB

Rogzitéelemek és szerszamok leiras

SZAM. Alkatrész leirasa
(1) M8 x 25mm Hatlapu fejl csavar
(2 5/16 Split alatét

)
(3) 5/16 Lapos alatét
)

(4 M5 x 20mm szamlaléfej csavar

5520000004 Rev A Page 19 of 26



(Italiano)

N Manutenzione Ordinaria

Verificare periodicamente tutte le mollette di bloccaggio associate al sistema di montaggio. Stringere o aggiustare le
mollette per un funzionamento ottimale e per la sicurezza.

i Pulizia del complesso di montaggio

. Il complesso di montaggio pud essere pulito con le soluzioni pit leggere e non abrasive comunemente usate
nell'ambiente ospedaliero

. Lafinitura superficiale sara permanentemente danneggiata da prodotti chimici e solventi forti come acetone o
tricloroetilene.

. Non usate lana d’acciaio o altri materiali abrasivi.

. Danni causati dall’'uso di sostanze o processi non approvati non saranno garantiti. Si raccomanda di provare
qualsiasi soluzione di pulizia su una piccola area del complesso di montaggio che non € visibile per verificare la
compatibilita. Fare riferimento alla tabella di compatibilita sopra.

. Mai sommergere o permettere ai liquidi di entrare nel complesso di montaggio. Strofinare immediatamente tutti gl
agenti di pulizia dal complesso, utilizzando un panno inumidito d'acqua. Asciugare accuratamente il complesso
dopo la pulizia.

ATTENZIONE: Interplex non assume alcuna responsabilita in merito all'efficacia dei prodotti chimici o dei processi

elencati come mezzo per il controllo di infezioni. Consultate il Responsabile per il controllo delle
infezioni o I'epidemiologo del vostro ospedale. Per pulire o sterilizzare i dispositivi montati o le
apparecchiature accessorie si faccia riferimento alle istruzioni specifiche fornite insieme ai prodotti.

Compatibilita Chimica

Detergente leggero o acqua saponata Acetone

10% soluzione di candeggina (10% candeggina, Tricloroetilene

90% acqua) Lana d’acciaio o altri materiali abrasivi
70% Alcol isopropilico Etanolo100%

70% Alcol etilico Oxivir® TB

Ossido di idrogeno (3%)

Descrizione di mollette e utensili

NO. Descrizione di parte

1) M8 x 25mm Vite a testa esagonale

2) 5/16 Rondella aperta

5/16 Rondella piatta

~ |~ |~
w
=

4) M5 x 20mm Vite testa svasata

5520000004 rev A Page 20 of 26



(Norge)

e Rutinemessig vedlikehold

Kontroller jevnlig alle festene som er forbundet med monteringssystemet. Stram inn eller juster festene etter behov
for optimal drift og sikkerhet.

o Rengjore monteringsenheten

1. Monteringsenheten kan rengjgres med de mest milde, ikke-slipende Igsningene som vanligvis brukes i
sykehusmiljget.

2. Overflateslutningen vil bli permanent skadet av sterke kjemikalier og Igsemidler som aceton eller trikloretylen.
3. lkke bruk stalull eller annet slipemateriale.

4. Skader som skyldes bruk av ikke-godkjente stoffer eller prosesser, er ikke berettiget. Det anbefales at du tester
en eventuell rengjgringslasning pa et lite omrade av monteringsenheten som ikke er synlig for a bekrefte
kompatibilitet. Se kompatibilitetstabellen ovenfor.

5. Vaesker trenger aldri & komme inn i monteringsenheten. Rengjgringsmiddelet tarkes umiddelbart av enheten ved
hjelp av vanndempet klut. Monteringen tgrkes grundig etter rengjaring.

FORSIKTIG: Interplex framsetter ingen pastander om virkningen av de oppfarte kjemikaliene eller prosessene som
kontrollerende middel. Kontakt sykehusets infeksjonskontrollgr eller epidemiolog. For a rengjare eller
sterilisere monterte innretninger eller tilbeharsutstyr, se de konkrete instruksjonene som fglger med
disse produktene.

Kjemisk kompatibilitet

Mildt vaskemiddel eller sapevann Aceton

10 % Blekemiddel (10 % blekemiddel, 90 % vann) Trikloretylen

70 % lIsopropylalkohol Stalull eller annet slipemateriale
70 % Etylalkohol Etanol 100 %
Hydrogenperoksid (3 %) Oxivir® TB

Skruer og verktoy Beskrivelse

NEL. Del Beskrivelse

1) M8 x 25mm Hex head maskinskrue

2) 5/16 Delt Skive

3) 5/16 Flat Skive

4) M5 x 20mm forsenkede hodeskrue

5520000004 Rev A Page 21 of 26



(Polski)

e Rutynowa konserwacja

Okresowo sprawdzaj wszystkie elementy tgczne zwigzane z systemem mocowania. Dokre¢ lub dopasuj elementy
tgczne zgodnie z potrzebg w celu zapewnienia optymalnego dziatania i bezpieczenstwa.

o Czyszczenie zespolu montazowego

1. Zespdt montazowy mozna czysci¢ za pomocg wiekszosci tagodnych i niesciernych roztworéw powszechnie
uzywanych w srodowisku szpitalnym.

2. Wykonczenie powierzchni zostanie trwale uszkodzone przez silne chemikalia oraz rozpuszczalniki takie jak aceton
czy tréjchloroetylen.

3. Nie uzywaj wetny stalowej ani innego sciernego materiatu.

4. Uszkodzenia spowodowane przez niezatwierdzone substancje lub procesy nie podlega gwarancji. Zaleca sie
przetestowanie dowolnego roztworu czyszczgcego na niewielkim obszarze zespotu montazowego, ktéry nie jest
widoczny, w celu sprawdzenia zgodnosci. Zapoznaj sie z powyzszg tabelg zgodnosci.

5. Nigdy nie zanurzaj lub nie pozwdl, aby ptyny dostaty sie do zespotu montazowego. Uzyj szmatki zwilzonej wodg, aby
natychmiast zmy¢ jakiekolwiek srodki czyszczgce z zespotu. Doktadnie osusz zespot po wyczyszczeniu.

UWAGA: Interplex nie przedstawia zadnych roszczen dotyczgcych skutecznosci wymienionych chemikaliéw lub
procesow bedgcych srodkami kontroli infekcji. Skonsultuj sie z inspektorem kontroli zakazen lub
epidemiologiem w twoim szpitalu. W celu oczyszczenia lub sterylizacji zamontowanych urzadzen lub
wyposazenia dodatkowego, zapoznaj sie z okreslonymi instrukcjami dotgczonymi z tymi produktami.

Zgodnos¢ chemiczna

tagodny srodek czystosci lub woda z mydtem Aceton
10% Roztwor wybielacza (10% wybielacz, 90% woda) Trojchloroetylen
70% Alkohol izopropylowy Wetna stalowa lub inny Scierny
70% Alkohol etylowy materiat
Woda utleniona (3%) Etanol 100%
Oxivir® TB

Opis elementéw ziacznych oraz narzedzi

Nr Opis czesci

1) M8 x 25mm Srubka z sze$ciokatng gtéwka
2) 5/16 Podktadka sprezysta

3) 5/16 Podktadka ptaska

4) M5 x 20mm Sruba z z wgtebienia

5520000004 Rev A Page 22 of 26



(Romana)

o Intretinere de rutina

Se verifica periodic elementele de fixare ale dispozitivului de instalare. Pentru a avea o siguranta totala si functionare
optima, strangeti sau reglati elementele de fixare, dupa cum este necesar.

R REEEE Curatarea dispozitivelor de instalare

1. Dispozitivele de instalare pot fi curatate cu solutii abrazive sau non-iritante care se folosesc frecvent in mediul
spitalicesc.

2. In cazul in care se folosesc substante chimice puternice sau solventi, cum ar fi acetona sau tricloretilena, acestea
pot deteriora finisajul suprafetei.

3. Anu se folosi lana de otel sau alte materiale abrazive.

4. Daunele care sunt cauzate folosind substante chimice neaprovizate sau a nerespectarii proceselor nu vor mai fi
garantate. Pentru verificarea compatibilitatii acesteia, este recomandat sa se testeze toate solutiile de curatare
folosite pe o suprafata mica a dispozitivelor de instalare si care sa nu fie vizibil. A se vedea tabelul de
compatibilitate de mai sus.

5. Niciodata nu scufunda dispozitivul de instalare in apa si deasemenea lichidele nu trebuie sa intre in dispozitivul
de instalare. Lichidele de pe dispozitivul de instalare se sterg imediat folosind o carpa umezita cu apa.
Dispozitivul de instalare trebuie sa fie complet uscat dupa curatare.

ATENTIE: Interplex nu face nicio afirmatie cu privire la eficacitatea substantelor chimice sau masurile de prevenire
si combatere a infectiilor. Consultati personalul medical a prevenirii si controlul infectiilor sau
epidemiologul. Pentru curatarea sau dezinfectarea dispozitivelor de instalare sau a accesoriilor
dispozitivului, consultati instructiunile specifice pentru produsele respective.

Rezistenta chimica

Detergent soft sau sapun lichid Acetona

10% solutie de inalbitor (10% inalbitor, Tricloretilena

90% apa) Lana de otel sau alte materiale abrazivel
70% Alcool izopropilic Etanol 100%

70% Alcool etilic Oxivir® TB

Apa oxigenata (3%)

Elementele de fixare si denumirea intrumentelor

NR. Denumirea instrumentelor

1) M8 x 25mm Surub de fixare cu capac hexagonal

2) 5/16 Saiba elastica

3 5/16 Saiba plata

~

(
(
(
(

4) M5 x 20mm Surub cu cap contrasunk

5520000004 Rev A Page 23 of 26



(Espafiol)

Rutina de Mantenimiento

Revisar ocasionalmente todos los sujetadores relacionados con el sistema de montaje. Apretar o ajustar los
sujetadores segun sea necesario para su funcionamiento éptimo y seguridad.

Limpieza del Equipo de Montaje

1. El equipo de montaje puede ser limpiado con la mayoria de las soluciones no abrasivas comiunmente usadas en
hospitales.

2. El acabado de la superficie sera dafiado permanentemente si se utilizan quimicos fuertes y solventes como lo son
la acetona o tricloroetileno.

3. No usar estropajos de acero u otros materiales abrasivos.

4. El dafo causado por el uso de substancias o procesos no aprobados no seran asegurados. Es recomendado que
se realice una prueba de cualquier solucion limpiadora en un area pequefia del equipo de montaje que no sea
visible para comprobar la compatibilidad. Consulte la tabla de compatibilidad proporcionada.

5. Nunca sumergir o permitir que liquidos entren en el equipo de montaje. Limpie inmediatamente cualquier producto
de limpieza que haiga caido sobre del equipo de montaje usando tela o un trapo humedo.

PRECAUCION: Interplex no hace ninguna declaracion en cuanto a la eficacia de los procesos o quimicos enlistados
como medios de controlar infeccion. Consulte a la oficina de control de infecciones de su hospital o
epidemidlogo. Para limpiar o esterilizar dispositivos montados o equipos de accesorios consulte las
instrucciones especificas entregadas con esos productos.

Compatibilidad Quimica

Detergente suave o agua enjabonada Acetona

10% Solucién blanqueadora (10% blanqueador, Tricloroetileno

90% agua) Estropajos de acero u otros materiales
70% Alcohol isopropilico abrasivos

70% Alcohol etilico Etanol 100%

Peréxido de hidrégeno (3%) Oxivir® TB

Sujetadores y descripcion de las herramientas

NO. Descripcion de la pieza

(1

M8 x 25mm Tornillo de cabeza hexagonal

)
(2) 5/16 Arandela dividida
(3) 5/16 Arandela plana
(4) M5 x 20mm Tornillo de cabeza avellanada

5520000004 Rev A Page 24 of 26



(Svenska)

e Rutinmassig underhallning

Kontrollera regelbundet alla fastelement kopplade till monteringssystemet. Dra at eller justera fastelement vid behov
for optimal drift och sakerhet.

e Rengor monteringsenheten

1. Monteringsenheten kan rengéras med de flesta milda och icke-slipande I6sningar som vanligtvis anvands i
sjukhusforhallanden.

2. Ytbehandlingen kan bli permanent skadad med starka kemikalier och I6sningsmedel liksom aceton eller trikloretylen.
3. Anvand absolut inte stalull eller andra slipmaterial.

4. Det kommer aldrig att garanteras om skador orsakas av anvandning av icke godkédnda amnen eller processer. Det
finns en rekommendation att testa alla rengdringslosningar pa ett litet och osynligt omrade i monteringsenheten for
att verifiera kompatibiliteten. Se kompatibilitetstabellen ovan.

5. Sank aldrig ner eller 1at inte vatskor komma in i monteringsenheten. Omedelbart torka av rengéringsmedel ur
enheten med ett vattenfuktat tyg. Torka enheten ordentligt sedan den renggérs.

FORSIKTIGHET: Interplex gor inga klagganden om effektiviteten hos de listade kemikalierna eller processerna som
ett infektion kontroll medel. Konsultera sjukhusets infektionsbekdmpande officer eller epidemiolog.
For rengdring eller sterilisering av monteringsanordningar eller tillbehérsutrustning, se de specifika
anvisningarna som levererades tillsammans med dessa produkter.

Kemisk kompatibilitet

Mild rengéringsmedel eller tvalvatten Aceton

10% blekmedelsldsning (10% blekmedel, Trikloretylen

90% vatten) Stalull eller andra slipmaterial
70% isopropylalkohol Etanol 100%

70% etylalkohol Oxivir® TB

Vateperoxid (3%)

Beskrivningen av fastelement och verktyg

Nr. Delbeskrivning

(1) M8 x 25mm Sexkantsskruv

(2) 5/16 Uppdelad tvattmaskin

(3) 5/16 Platt tvattmaskin

(4) M5 x 20mm Motsankt huvudskruv

5520000004 Rev A Page 25 of 26



(Tarkge)

o Rutin Bakim

Montaj sistemiyle iliskili tim baglanti elemanlarini periyodik olarak inceleyin. Optimum calisma ve givenlik sartlarini
saglamak igin baglanti elemanlarini gerektigi gibi sikin veya ayarlayin.

e Montaj Aksaminin Temizligi

1. Montaj tertibati, hastane ortaminda yaygin olarak kullanilan ¢ézeltiler arasinda en hafif ve asindiriciigi dustk
olanlarla temizlenebilir.

2. Yuzey cilasi gucli kimyasallar ve aseton veya trikloroetilen gibi ¢dzicllerden kalici zarar gordr.
3. Celik yun veya diger asindirici malzemeleri kullanmayin.

4. Onaylanmamis maddelere veya islemlere bagl hasarlar garanti kapsaminin disindadir. Herhangi bir temizleme
solisyonunu kullanmadan énce, s6z konusu maddenin uyumlu olup olmadigini anlamak igin montaj dizeneginin
gorulmeyen kiguk bir alaninda denemeniz Onerilir. Yukaridaki uyumluluk tablosuna bakin.

5. Montaj tertibatina asla sivi degdirmeyin veya sivi girigine izin vermeyin. Nemli bir bez kullanarak temizlik
maddelerini derhal silin. Temizledikten sonra dizenegi iyice kurulayin.

DIKKAT: Interplex, listelenen kimyasallarin veya islemlerin enfeksiyon kontroliine yonelik etkinligiyle ilgili hicbir
iddiada bulunmamaktadir. Hastanenizin enfeksiyon kontrol memuru veya epidemiyologuna danisin.
Takil cihazlari ve diger malzemeleri temizlemek veya sterilize etmek igin bu trlnlerle birlikte verilen 6zel
yonergelere bakin.

Kimyasal Uyumluluk

Seyreltilmis deterjanl veya sabunlu su Aseton

%10 gamasir suyu ¢ozeltisi (%10 gamasir suyu, Trikloroetilen

%90 su) Celik yin veya diger asindirici malzemeler
%70 izopropil alkol %100 Etanol

%70 Etil alkol Oxivir® TB

Hidrojen peroksit (%3)

Baglanti elemanlan ve aletlerin tanimi

NO. Boliim tanimi

1) M8 x 25mm Altigen basl vida

2) 5/16 Yarikl Rondela

3) 5/16 Duz Rondela

4) M5 x 20mm Karsi Fren Kafasi Vidasi

5520000004 Rev A Page 26 of 26



